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Question 1.Select the related word/letters/number from the given alternatives.
&3 I frehodl H.9 WeflRIT QMME/ 370 IYHO0 AT T HT|
FUNGI: MYCOLOGY:: TISSUE: ??

FEPAIAT:hdD HO T @1 Fcdh: ?

29 9
Options:

1) Haematology
I0dmE0 T

2) Cytology

FIRIFHD T

3) Histology

ScehED TeT

4) Bacteriology

Elciy:nic)

Correct Answer: Histology
ScdhED T

Candidate Answer: [ NOT ANSWERED ]

Question 2.Select the related word/letters/number from the given alternatives.
(B I [HehOY0H & el e e/ 310 IYE0 3T 3 YT |

BDFH : YWUS :: JLNP : ?

Options:

1) QOMK

2) ACEF

3) ZXUT

4) UVWX
Correct Answer: QOMK
Candidate Answer: QOMK

Question 3.Select the related word/letters/number from the given alternatives.
ED I R0 & HeIfOed *0G/310 IYH0 AT 1 IHT|

18:30::36:7?

Options:

1)78

2) 64

3) 66

4) 68
Correct Answer: 66
Candidate Answer: 66
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Question 4. Downloaded from www.qmaths.in

For the following questions

Find out the odd word/letters/number pair from the given alternatives

[ET 91T HHOI0H § YA A0E/ |0 A1/ 310 YI0H o0 |

Options:

1) Arithmetic
3HATET

2) Mathematics
IMPTT

3) Geometry
OITOACT

4) Algebra
EiSccH

Correct Answer: Mathematics
IMPTT

Candidate Answer: [ NOT ANSWERED ]

Question 5.

For the following questions

Find out the odd word/letters/number pair from the given alternatives

[ET 91T HH0Y0H § YA A0E/ F0 A1/ 310 Y/I0H o7 |

Options:
1) ACEG

2) BDFG
3) JLNP

4) SUWY
Correct Answer: BDFG
Candidate Answer: ACEG

Question 6.

For the following questions

Find out the odd word/letters/number pair from the given alternatives

[EV 31V [HOY0H & [HYH A0/ H0 31/ 370 /G0 JHT|

Options:
1) 16, 32

2) 20, 40
3) 64, 81

4) 81, 162
Correct Answer: 64, 81
Candidate Answer: [ NOT ANSWERED ]

Question 7.Arrange the following words as per order in the dictionary

O QMIGUHT ATEHILT H [ET 1T 0 H & 3]ER T
1. Weather 2. Weasand 3. Wealth 4. Weapon 5. Weekend

Visit www.gmaths.in for tons of free study materials and latest exam updates.

http://thepracticetest.in/challengesystem/response_questions.php?t_id=Mjk=&appid=1a4fff78943b24af40c79deccf09bb87 2/30



9/24/2016 Staff Selection Commision

Options: Downloaded from www.qmaths.in

1)3,2,4,1,5
2)3,2,1,4,5
3)3,4,2,1,5

4)3,4,1,25
Correct Answer: 3,4,2,1,5
Candidate Answer: [ NOT ANSWERED ]

Question 8.Choose the correct alternative from the given ones that will complete the series

[ET 91T HH0Y0H & F6 HeUERIT B Sl 30 & I T A
BFK, KOT, UYD,?

Options:

1) BFJ

2) ADG

3)Fl0

4) PSX
Correct Answer: FJO
Candidate Answer: FJO

Question 9.Find the missing humber in the series

2nar$ 0ol 7 & o0 U 0 7 SIS |
2,3,8,7?, 112, 565

Options:

1) 565

2) 112

3)27

4)8
Correct Answer: 27
Candidate Answer: [ NOT ANSWERED ]

Question 10.A woman pointing to a man said, "He is the widower of my uncle's brother's daughter." How is the man related to the woman?

T FHE Teh HTEHN PO SURT I §U Feell & 0 "Tg A T & 15 FUSCOHT (YT & T e 30 AR A Fhel 0FR A0S0 § ?

Options:
1) Brother-in-law

gl

2) Brother

IS

3) Uncle

T

4) Nephew

AT/ ST ST

Correct Answer: Brother-in-law
Teals

Candidate Answer: Brother-in-law

gl

Question 11.P, Q, R and S are four friends. P is shorter than Q but taller than R who is shorter than S. Who is the shortest among all?

P,Q,R, 3IR S IR IHD 8 ieS & P,Q ¥ BT § AT R A T & ST S A BT | 378 Ty BleT Sl § ?

Options:
1)P

2)Q
3)R

4)S
rrect Answer: R
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Candidate Answer: R Downloaded from www.qmaths.in

Question 12.From the given alternative words, select the word which cannot be formed using the letter of the given word.

HOARDET EHHOIY0H § 98 ATE YT ST BT TV MG o 370 I0H 01T Feh AU ST Hehell|
IMPRACTICABLE

Options:
1) CAPABLE

2) PARTICLE
3) PRACTICAL

4) PEACE
Correct Answer: PEACE
Candidate Answer: PEACE

Question 13.If BROTHER is coded as GWTYMIW, then SCHOOL is coded as

IE T s H 'BROTHER' I 'GWTYMIW ' [HET ST &, a 38 s H 'SCHOOL' &l 03T [FET SR ?

Options:
1) WGLSSP

2) WGLSSQ
3) XHMTTQ

4) XHMTTP
Correct Answer: XHMTTQ
Candidate Answer: XHMTTQ

Question 14.If '+' means subtraction, '+' means addition, '<' means multiplication and '>' means division, then find the value of the given statement,
The value of 9 + 7 < 8 > (4>2) + 5 will be

IE '+ I HIoIT § T, '+ T HTlel § 15, '<' &0 HAclold g 0T 3N '>' T HTeld & H1T, AT $H GO T Al 0 1d Hlior |
9+7<8>(4>2)+5

Options:

1) 32

2) 18

3) 16

4) 11
Correct Answer: 32
Candidate Answer: [ NOT ANSWERED ]

Question 15.If 5 * 3 = 19 and 8 * 5 = 49, then what should 6 * 4 be?

JES5*3 =19 3R 8 * 5 =49, AT 6 * 4 0AT =T ANET ?

Options:
1) 24

2)28
3)18

4) 16
Correct Answer: 28
Candidate Answer: [ NOT ANSWERED ]

Question 16.Select the missing number from the given responses.

HOTEIET Duﬂﬁwaguﬂmm%,mﬁwmmgm%l [EU 31T [HHOTOH F 38 00T draeh (00 & 0T 9T FgU30R FeAeh HET|

24 20 36
15 11 18
55 40 ?
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Options: Downloaded from www.qmaths.in

1) 45
2) 65
3)70

4) 80
Correct Answer: 65
Candidate Answer: [ NOT ANSWERED ]

Question 17.A man walks 7 km towards south and turns to the left. After walking 5 km, he turns to the right and walks 7 km. In which direction is he now from the
starting point?

Teh 3Te 7 .2, S0 U OIS & AR a1 73 ST &1 5 B A, Toi & STe a¢ a1¢ HsaT & X 7 #h.#. FefaT §1 319 a8 OR0eh [0g & B X1 H §?
Options:

1) West

qiad

2) South

gm ot

3) South-East

&M oT-9a0

4) North-East

SR-90

Correct Answer: South-East
&M oT-9a0

Candidate Answer: South-East
gl UT-9a0

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement 1: When water is cooled, it turns into ice.

Statement 2: When water is heated, it turns into steam.

Conclusion I: Water is a solid.

Conclusion II: Water is a gas.

OGS 00 3 Ueh AT & q0d0T B I g, Toraeh 39T & GH0ehyAmIang, 1 33 11 el 31 gl 3Rl [HaR T § [ a0d0T A0 § 98 ag HAndd: AaE0and
B0 0T 1T 8Y1 3R (YT & & [ [ET 31T g0 0T H O ieT-T HiTad 09 ¥ TN IHSHEIIACT Tehlel ST Hhdl & ?
JOANT 1 ;51 UTeiT SOST 8T & J9 98 ST deof ST g

JOATT 2 : SIS ITAT Y IRHA [FRIT ST § oY Ig o7 H Feel ST &

BTOTH 1 : STl 31 &

o™ 2 : ST AT &

Options:

1) Only Conclusion I follows

Fael ISV TE0E|

2) Only Conclusion II follows

Fgel HOHYII TE0g|

3) Both I and II follow

oS 3R 11 0808

4) Neither I nor II follows

o g 3R & g0ll Teg|

Correct Answer: Neither I nor II follows

o gnmEmeSd 3R o g0ll Tgug|

Candidate Answer: Both I and II follow

oY 3R 11 S-09g0gl

Question 19.What is total number of triangles in the given figure?

;h?}an?réaqmg—cﬁﬁsﬁrmﬁﬁmafmgn?
_k\ 7
.9 ,I
N %
e
1
‘,/ \\‘
o o AN . .
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Options: Downloaded from www.qmaths.in

1)16
2) 32
3)40
4)12

Correct Answer: 16
Candidate Answer: 16

Question 20.Identify the diagram that best represents the relationship among classes given below
Men, Rodents and living beings

€ 3TRY YT S A1 BT 1T G910 el GO T TgOE0T0T FAT 8|
HAW, Y, 3R Sia-o0 {7

Options:
1)

rd

A Il
‘f
T ”
\
N

]

e —

2)

3)

Y

Tt

T I
LV

N\

4)

)

—
b

BK

P~
“h..-, e

Correct Answer:

LY

Tt

T ™
L'

N

Candidate Answer:

Wi

P ¥
]

Tt

T ™
V

Vi
=

Question 21.Which answer figure will complete the pattern in the question figure?

I~ SR-3MThell O 0=7-37Thell oh 0IEOT T T H ?

T TS
@

B % s

aER SR IRE

exza
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1)

2)
BH-HN
Fant
S
N | (7
3)
4)
S
N | (A

Correct Answer:

ﬁL‘%
N

Candidate Answer:

ﬁL‘%
N

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

E0TS ST TR0 & 3 T I YOIV TS 00 TPE HET § 1

&
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1)

2)

&
i

3)

4)

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened

oI 00T S0 (0 I1THR FTST ST AISH Flee AT Wioket & e T BT SR NP SHAT [ETS 3T ?
[

A

P A {
I

]

|

5 1
0N, |

e 1l 3% T .
L7 o O

Y
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) O
A O
2)
O
HemmEES Q0
e .
(@
o, O 11
3)
O O
O C
4)
O @ O
]
O O
Correct Answer:
O
B HEEmS 0
& .
[®
o, o 11
Candidate Answer:
O
W EmEEY 0
& .
[®
o O 1
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Question 24.If a mirror is placed on the |in@0wnl|@adagdefmhwwgq maths.in

IE T SHET I MN JET TR @1 ST AT 0TS 30 ATHEA0H F T8l HTHIE 00T HTHIE T HU0HEDT gian ?

M

7

s mn o /

. Y

Y

Y

9

._ F 4

o

M
Options:

1)
2)
3)
4)

Correct Answer:
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Candidate Answer: Downloaded from www.qmaths.in

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A from these matrices can be represented first by its row and next by its column. e.g. N can be represented by 01, 14 etc. and A can be
represented by 55, 69, etc. You have to identify the set for the word ‘GOOD’.

HOARIET 007 H EH0I0H [ET T7C HO AT-FHg, 30 0% &7 FeTN0TRT ST AT SRS I &A1 [ET 97 &7 T0GE0H 81 30YE 1 & FA0sT 3N 4fid F0E0 370 & 4 7 a0
TS ¥, 3 INIE 11 & 58 9 T, 37 HMREOH T 310 Y H Tgel 3T09T0d 3R a6 3 0087 H0 AT 0TRT SMET ST FhelT §1 3ETE0T & [FT 'N' &1 04, 14 TE DIRT GRMET
ST HeBell & AT 'A' ¥ 55, 69 3T OART GRIMAT ST HhelT §| HTTRT [ET U MG 'GOOD' o [FIT HHG T TgelleAtl ¢

Matrix-1 Matrix-1I

0 1 2| 3 4 5 & 7| 8 9
0 Bl Nl G L| D 5 A | Kl O R
1| G L| Dl B| N ] | Kl O R| A
2| Dl Bl Nl G L [ Kl O R| A 1
3 Nl G Ll D B 8 O Rl A Il K
4 L Dl Bl Nl G 9 R| A | Kl 0O

Options:

1) 02, 58, 68, 04
2) 44, 99, 76, 20
3) 31, 67, 76, 22

4) 33, 76, 86, 41
Correct Answer: 44, 99, 76, 20
Candidate Answer: [ NOT ANSWERED ]

Question 26.Among the following States, has the lowest birth rate in India.

R # HIAENET AUI0H & BFE J0F 7 S0 F &I 0FAH § ?
Options:

1) Kerala

el

2) Uttar Pradesh

30cR 0e2r

3) Bihar

[HgR

4) West Bengal

gftis S9mrer

Correct Answer: Kerala

el

Candidate Answer: Kerala

el

Question 27.The Secretariat of SAARC is set up at

T TEGTerT el iU & ?
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1) Washington

IMRIETCT

2) Kathmandu

oy

3) Hague

T

4) New Delhi

S B0

Correct Answer: Kathmandu
FISHZ

]

Candidate Answer: [ NOT ANSWERED ]

Question 28.The outermost range of Himalays is called

EHTET HOTTH SEI0Iad 0o T W g ?
Options:

1) Kali

chlell

2) Shiwaliks

RIATRIR

3) Dehradun

Seeg

4) Kumaon

SHTS

Pl
Correct Answer: Shiwaliks
RIS

Candidate Answer: [ NOT ANSWERED ]

Question 29.Who is generally considered to be the father of the Indian Renaissance?

WA Fr8 AR JoASTTEIROT T STeieh HIAT ST & ?
Options:

1) Rabindranath Tagore

IEOO A F

2) Raja Rammohan Roy

TS THAG T

3) Mahatma Phule

FETIAT ool

4) M.G. Ranade

TA. 3. T3

Correct Answer: Raja Rammohan Roy
TS ARG T
Candidate Answer: Raja Rammohan Roy

ST THAGA I

Question 30.The longest river of peninsular India is

ORI HRT FOTSH 0 deuHlT A g ?
Options:

1) Narmada

THer

2) Godavari

aeran

3) Mahanadi

FHETIGH
4) Cauvery
h1aX0

Correct Answer: Godavari
Meran
Candidate Answer: [ NOT ANSWERED ]

Question 31. gives hardness to stainless steel.
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Options: Downloaded from www.qmaths.in
i

2) Lead

B

3) Carbon

Eac:)

4) Tin

EeT

Correct Answer: Carbon

Eact:)

Candidate Answer: [ NOT ANSWERED ]

Question 32.Which of the following is responsible for transport of food and other substances in plants?

HOAEET # ¥ GO G0 W0 IerIBiR A0 J090 98- gidT ¢ ?
Options:

1) Xylem

EIECE)

2) Phloem

IR (NYGTE)

3) Chloroplast

oeRITee

4) None of these

ST & IS 0

Correct Answer: Phloem

IR (NYaTE)

Candidate Answer: [ NOT ANSWERED ]

Question 33.The washing machine works on the principle of

FU e HOFMNT BT 060 T TR HRIERT § ?
Options:

1) Dialysis

Kiciro)

2) Diffusion

EaoT

3) Reverse osmosis

300 H 90T

4) Centrifugation

STISRIITEHIOT

Correct Answer: Centrifugation
3YRIITEROT

Candidate Answer: Reverse osmosis
300 H 980T

Question 34.Which is not an external storage device?

HOAEET H F HleT T SEI00ERST BASH (AT HISROT I ) Ag0g ?
Options:

1) CD-ROM

@ar-da

2) DVD-ROM

A -AA

3) Pen Drive

U 0BT

4) RAM

kez)

Correct Answer: RAM

o

Candidate Answer: RAM
ke:l
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Question 35.Which of the following is the cfJx@\asgplio) sl cheal freim wawgqma{h@§ pfyopulation?

ST T FHUSTANTAT o HEHE ' [FAT ITdTeT ' 2 T FEUIFIMAT § ?
Options:

1) Number of males per 1000 females.

1000 TOUFOR Y0 SEROFED A1

2) Number of females per 1000 males.

1000 90 VIFR HEI31T HOHO AT

3) Number of females per 100 males.

100 90 YIHT HAECN3iT HOF0 I

4) Number of females in a sample of 1000 persons.

1000 DI 00 O (FGRITH AE3T H0H0 AT

Correct Answer: Number of females per 1000 males.
1000 OYOTR HEAI3T HOHO AT

Candidate Answer: Number of females per 100 males.
100 O%0 SR FHEE3HT HOFO AT

Question 36.The atomic power station in Rajasthan is situated at:

S0 F 'OAI] HOG 0 ' Fel 0Ud & ?
Options:

1) Pokhran

qrEwe

2) Suratgarh

T{IAME

3) Rawatbhata

A dHTET

4) Chittorgarh

0SS

Correct Answer: Rawatbhata
REREIH)

Candidate Answer: Pokhran

TR

Question 37.The Sahitya Akademi Awards are given for best writings in how many Indian languages?

(Fheletl SR SIST3HT & AT Gl & (BT HETT JTehrea GROPR [ET STt 810

Options:
1) 12

2) 15
3) 20

4) 24
Correct Answer: 24
Candidate Answer: [ NOT ANSWERED ]

Question 38.Right to Privacy comes under

FSTIT 3T JTRTRR Fhaieh 37efleT 31T & ?
Options:

1) Article 19

38T 19

2) Article 20

g 20

3) Article 21

g0 21

4) Article 18

30D 18

Correct Answer: Article 21

g 21

Candidate Answer: [ NOT ANSWERED ]

Visit www.gmaths.in for tons of free study materials and latest exam updates.

http://thepracticetest.in/challengesystem/response_questions.php?t_id=Mjk=&appid=1a4fff78943b24af40c79deccf09bb87 14/30



9/24/2016 Staff Selection Commision
Question 39.The foreign traveller who visitwnﬁ@adedh#@msmqm aths.in

QESTET & M Il 3 el AT ST M HRA 31T 27 ?
Options:

1) Thomas Roe

AT A

2) William Hawkins

HEH g0

3) Ibn Batuta

SO ST

4) Manucci

HJO0FH0

Correct Answer: Manucci

A0

Candidate Answer: [ NOT ANSWERED ]

Question 40.The GST (Goods and Services Tax), recently passed by Government will be levied on which of the following products?

TIHR OTRT gTel g0 I BT IIT SiT. TH. €0 [Fol ( Aol 3R TaT X ) HIAEIET H F Fhel S0UIGOUR 91T SITUaT ?
Options:

1) Petroleum Crude
QOERIA AW

2) Tobacco

GUEICY

3) Natural Gas

0T 3

4) Aviation Turbine Fuel
HHARTT caTgeT SeeT
Correct Answer: Tobacco
QUCICY

Candidate Answer: [ NOT ANSWERED ]

Question 41.Who was elected the Prime Minister of Nepal recently?

&Il GUH ahleT AuTel & D el HIY T+ 91T ?
Options:

1) Keshav Kumar Budhathoki

UG FHR g1 SIh0

2) Khadga Prasad Sharma Koli

GSIT 0HIG AHTEROD

3) Sushil Koirala

GRireT g

4) Pushpakamal Dahal 'Prachanda’

909 A elgler ‘003’

Correct Answer: Pushpakamal Dahal 'Prachanda’
909 A gTglel 008’

Candidate Answer: [ NOT ANSWERED ]

Question 42.Which lobe of human brain is associated with hearing?

AT AR HOHIT W IIH 0 J0T F FEET § ?
Options:

1) Frontal lobe

370 ofellc 9Tkl

2) Parietal lobe

T ITer

3) Temporal lobe

G I

4) Occipital lobe

WW

Correct Answer: Temporal lobe

G I

Candidate Answer: [ NOT ANSWERED ]
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Question 43.Which of the following is not s§@ WD aded from www. q maths.in

HOAEIET & & 037 el 7 goleiel Ag0g ?
Options:

1) Lead sulphate

oIS Fu%e

2) Zinc sulphate

i G0%e

3) Potassium sulphate

YR A0%HT

4) Sodium sulphate

HIEIH F0%he

Correct Answer: Lead sulphate
o8 AUt

Candidate Answer: [ NOT ANSWERED ]

Question 44.Activated Charcoal is used to remove colouring matter from pure substances by.

mmamﬁﬁmuammumﬂuwmygu A0 § IoTeh TSTANHT G AT STl & ?
Options:

1) Bleaching

BT

2) Oxidation

ERERE)

3) Adsorption

JTRTROT

4) Reduction

0 ZeftenoT

Correct Answer: Adsorption

JTRTRITYOT
Candidate Answer: [ NOT ANSWERED ]

Question 45.Chernobyl disaster is the result of pollution by

AN HIHYTET Frdeh 0GYOT & JOTH ¢ ?
Options:

1) Oil spill

el B

2) Acid rain

3Ol gum

3) Carbon dioxide

FISH B0

4) Radioactive waste

YEDTADIIRIIE

Correct Answ er: Radioactive waste

YENYANIIRIE
Candidate Answer: [ NOT ANSWERED ]

Question 46.Which of the following caused radioactive pollution along the coast of Kerala?

Tl T R NEACTTET DGHOT BHIAIRIET H & Bhal HROT H 31T ?

Options:
1) Plutonium

SEa
2) Zinc
Siodar

3) Thorium
i)

4) Radium
EIA

Correct Answer: Thorium

AxIH
Candidate Answer: [ NOT ANSWERED ]
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Question 47.In mammals, an important el Y@&tTlORd @d from www.gmaths.in

OA-TERA0 SOHSTd &l Ueh HITUIERRITHIEIET 3 § Sis 6 3aad AT 8 ?
Options:

1) Large intestine

CEIKIC

2) Kidneys

TE0)

3) Lungs

L

4) Liver

TSR (TepeT)

Correct Answer: Kidneys
TN GOF)

Candidate Answer: Lungs

L]

Question 48.The second Green Revolution aims at increasing agricultural output to promote

O g 0 1 deT 3009, (IOANE 3 & Fhe N 391G 00 & A0 €elg ?
Options:

1) Availability of easy credit to big farmers

5 DREADS GordT ) [BC HO3TAIEAT

2) Co-operative farming

TEPROWAT

3) Inclusive growth

30 AETCYMm

4) Development of rural sector

aroT 00 T EERRT

Correct Answer: Inclusive growth

30 dENCTMm

Candidate Answer: Development of rural sector
0T 00 T R

Question 49.Which of the following causes rainfall during winters in the north-western part of India?

HRA & 30X - ST HeT 7 Sfaeel 7 FIAFETET H 8§ Fhd SROTH J9IERT & ?
Options:

1) Western disturbances

gffraedt mo e

2) Cyclonic depression

BIEIGIKERC

3) Southwest monsoon

W o it AeTgeT

4) Retreating monsoon

acTET AT

Correct Answer: Western disturbances
qffraett mo et

Candidate Answer: [ NOT ANSWERED ]

Question 50.The 'Blue Water Policy' was introduced by the Portugese leader

et A YABTANAT o ' o] ATeX SIBRAT O w0l ?
Options:

1) Franscisco-de-Almeida

0 TOHNRFET-3T0HET

2) Alfonso de Albuquerque

TN 2T COFhR

3) Francis Caron

0 o et

4) Francis Martin
0 {0 ATER
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Correct Answer: Franscisco-de-Almeida D ownloaded from Www.qmaths. in
0 TORDER-31- 30T
Candidate Answer: [ NOT ANSWERED ]

Question 51.If the sum of @ number and its reciprocal be 2, then the number is

IE T HOIT AR 386 [G00 H 1 19T 2 8, A 6 60 AT Fhelalt gMT ?

Options:
1)0

3)-1

4)2
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 52.The area of a rectangle in 60 cm? and its perimeter is 34 cm, then the length of the diagonal is

Teh 3T &7 0 0% 60 G103, § 31 39 IAT 34 AL &1 Y 39% [HAUIERINSTS Ehdell g1l ?
Options:

1) 17cm

17 a3

2) 11cm

1137

3) 15cm

15 T.#.

4) 13cm

13 {.9.

Correct Answer: 13cm
13 T

Candidate Answer: [ NOT ANSWERED ]

Question 53.A cloth merchant has announced 25% rebate in prices. If one needs to have a rebate of . 40, then how many metres of cloth costing . 32 per metre he
should purchase.

Teh HUSI-[ATIRO 3T HEAT0H 25% FT HUTITOT Y Tel-T0R ALE FHEN Hl . 40 HOFT T &1, AT 30 . 32 0 FeT alel HUS I Frcll HeT HUST TRIET g1 ?
Options:

1) 6m

6 .

2) 5m

5.

3) 10m

10 7.

4) 7m

7 &

Correct Answer: 5m

5.

Candidate Answer: 10m
10 =,

Question 54.A profit of Rs. 960 is divided between A and B in the ratio 1/3:1/2. The difference of their profit is :

Rs. 960 & o8T T A TUT B & 1/3:1/5 o 31e]uTel  Sfer a1aT §| 3oTeh SHUHT 0 A0 IT G ?

Options:
1) Rs.120

2) Rs.160
3) Rs.180

4) Rs.240
Correct Answer: Rs.240
Candidate Answer: [ NOT ANSWERED ]
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Question 55.The average monthly salary owwmaw.fmmwww@qm@thlinlary is Rs. 20000 has joined the group, then

the average salary of the group is

19 eI Toh 0,9 1 3T ADEF dd=T Rs. 16000 &1 Y IE 38 09 F Rs. 20000 HDHF Tt dTell Ueh 0 T HGOT & ATl 8 ST, oY 38 0T T I HEeh it
EhcleIT &1 SITTaT ?

Options:
1) Rs.18250

2) Rs.16200
3) Rs.18000

4) Rs.16250
Correct Answer: Rs.16200
Candidate Answer: Rs.18000

Question 56.A T.V was sold at a profit of 5% If it had been sold at a profit of 10% , the profit would have been Rs. 1000 more. What is its cost price ?

Teh 200 . 5% 3T O 91 IAT| ALE 38 10% ST G 9T SATelT @r Rs. 1000 7 RIS 13T GIT| 3T 0 F-HOF SST ?

Options:
1) Rs.20000

2) Rs.5000
3) Rs.10000

4) Rs.15000
Correct Answer: Rs.20000
Candidate Answer: Rs.10000

Question 57.The price of an article is decreased by 10%. To restore it to its former value, the new price must be increased by :

FREY A0 & HOT H 10% HOFA FOIAT &1 38 el AIT W ol o B0 7 HIT H Fhckell JO HTE 190 2

Options:
1)

Q = %
117°
2) 10%
3) 11%
4)
11 1E'f
9 (i}
Correct Answer:

11 1”/
9 0
Candidate Answer: 11%

Question 58.A moving train passes a platform 50m long in 14 seconds and a lamp post in 10 seconds. The speed of the train (in km/h) is :

Wﬂﬁ?ﬁg‘émwsomaaﬂa‘ ol BIHAGRT 14 BP03 7 3R T [Wofellsh WOH T 10 V03 H IR I § | Tel@msT Huard (B3 /ger) A 0arg ?

Options:
1) 24

2) 36
3) 40

4) 45
Correct Answer: 45
Candidate Answer: [ NOT ANSWERED ]

Question 59.If x2 + 1/x? = 2, then the value of x - 1/x is

JE X2 + 1/x% = 2 &), dT X - 1/x &1 AT S50 ?

Visit www.gmaths.in for tons of free study materials and latest exam updates.

http://thepracticetest.in/challengesystem/response_questions.php?t_id=Mjk=&appid=1a4fff78943b24af40c79deccf09bb87 19/30



9/24/2016 Staff Selection Commision

Options: Downloaded from www.qmaths.in

1) -2
2)0
3)1

4)-1
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

Question 60.

1
Ifpq (p +q) = 1,Then the valueof —— —p? —q3isequal to
g

aﬁm(ﬂ+@)=1ﬁm’#—p3—q3ﬂmwﬁ?ﬁ?

Options:
1)1

2)2
3)3

4)4
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

Question 61.A chord of length 16 cm is drawn in a circle of radius 10 cm. The distance of the chord from the centre of the circle is

16 .7, 0T Ueh Shar 1 10 @3, moFT arel JO A Wi ST §1 g0 & Sl F ShaT HOgInadsT ?
Options:

1) 8cm

8 {.A.

2) 6cm

6 T..

3) 4cm

43

4) 12cm

12 3.7

Correct Answer: 6cm

6 QA

Candidate Answer: 6cm
6 T

Question 62.An angle in a semicircle is

(T 3TETgIICT # SI0T [Ehcl<TT g1 ?

Options:
1) 45°

2) 60°
3) 90°

4) 120°
Correct Answer: 90°
Candidate Answer: 120°

Question 63.If x = a cos8+ b sin and y = b cos6- a sind, then x2 + y2is equal to

ILE X = a cosb+ b sind 3y = b cosb- a sind &Y, @Y x2 + y2 &l H=T 04T glaT ?
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Options: Downloaded from www.qmaths.in

1)ab
2) a2+b?
3) a2-b?

4)1
Correct Answer: a2+b?
Candidate Answer: [ NOT ANSWERED ]

Question 64.A can do a work in 12 days while B can do it in 15 days. They undertake to complete it together for Rs. 450. what will be the share of A in this amount of
money ?

A Teh SHIIERT 12 (Bl 3 GRT T Fehell & SToFR B 3 15 [T 3 YT T Thell 8| d 3H Teh A Dol Rs. 450 F et Y IR 81 STt Bl SH LAIRT 3 A T BT Ehct=IT g1am
?

Options:
1) Rs.200

2) Rs.240
3) Rs.250

4) Rs.300
Correct Answer: Rs.250
Candidate Answer: Rs.250

Question 65.If x = V2+1, then the value of x*-1/x*is

IE x = V2+1 @, ar x*-1/x* &1 AT Ercer ger ?

Options:
1) 8v2

2) 18V2
3) 6v2

4) 24v2
Correct Answer: 24v2
Candidate Answer: [ NOT ANSWERED ]

Question 66.If 9x2 + 16y = 60 and 3x + 4y = 6, then the value of xy is

TE 9x2 + 16y2 = 60 31X 3x + 4y = 6 &, AT xy T AT 0AT 2T ?

Options:
1)-1

2)1
3)-2

4)2
Correct Answer: -1
Candidate Answer: [ NOT ANSWERED ]

Question 67.If in AABC, DE ||BC, AB = 7.5cm, BD = 6cm and DE = 2cm, then the length of BC in cm is :

JME AABC, DE ||BC, AB = 7.53.7., BD = 63.7. 31X DE = 2.3, &), a BC ®uomars A2, F nar gref ?

Options:
1)6

2)8
3)10

4) 10.5
Correct Answer: 10
Candidate Answer: [ NOT ANSWERED ]
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Question 68.Suppose that the medians BD, k@ milorandkerd e prowAs) Wis qm aths.in

A WSV B AT ABC MaHI0T HOATTFHT BD, CE 3R AF HIE, G UX DAl g1 AG:GF 07§11 ?
Options:

1)1:2

2)2:1

3)1:3

4)2:3

Correct Answer: 2:1

Candidate Answer: [ NOT ANSWERED ]

Question 69.
cosf cosf

+ =4
1 _sin@ 1+ sind then

the value of 8 (0<8<90°) is

cos 8 cosf — st = ~
qﬁm+l+sin9 4,31’3-0{9{90)3?[%31?13?

Options:
1) 60°

2) 45°
3) 30°

4) 35°
Correct Answer: 60°
Candidate Answer: [ NOT ANSWERED ]

Question 70.A sum of Rs. 2000 amounts to Rs. 4000 in two years at compound interest. In how many years does the same amount becomes Rs. 8000.

Rs. 2000 &OIRT <0 g0 07T 91 2 90 Rs. 4000 81 STl & | I8 JMRT Frcfel G903 Rs. 8000 &1 Sieaft ?
Options:

1)2

2)4

3)6

4)8
Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]

Question 71.Two ships are sailing in the sea on the two sides of a light house. The angle of elevation of the top of the light house as observed from the two ships are
30° and 45° respectively. If the light house is 100m high, the distance between the two ships is :(take V3=1.73)

FAND F &1 e DRI 08 & QA0 Tl I 5l AA0TTT0H ST I DTN 09T & 2T S0AAT 10T 0 3T 30° 3 45° F1 AE DFTR OcAeT 100 e F+ar g1, ar derndian
& S HOIUIATST ? (TE AT §U 0% V3=1.73)
Options:

1) 173m

173 .

2) 200m

200 .

3) 273m

273 7.

4) 300m

3007,

Correct Answer: 273m

273 #r.

Candidate Answer: [ NOT ANSWERED ]
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Question 72.The following figure shows thﬁwﬂgmdsafmmuwwgth&mge during years 2000 to 2004. study the

figure and answer the questions.

AOAHDE 3T 7 FFE Hloret 3 TVR000 ﬁa’wruzoo4aa;nmmmngmm@mnmmm(mﬁ)'c:%rnd’r'ﬂé%l FTHIE T HOAAT FX 0009 ST
aifsT ?

B Admsinted

2004

2000 2001 200

2 o 8o
The percent increase in the number of students admitted in the year 2003 over that in 2001 is

gN2001 FTeRAT H GYR003 H HAOGT mﬂnmﬂ’ﬂmﬁg‘é OCERI 0 Fhelall § ?

Options:
1) 133.3

2)33.3
3)40.3

4) 66.7
Correct Answer: 33.3
Candidate Answer: [ NOT ANSWERED ]

Question 73.The following figure shows the number of students (in thousands) admitted and passed out per year in a college during years 2000 to 2004. study the
figure and answer the questions.

OSHTE 3T 3 EREY Sictel 7 TYR000 ?ra'sruz004a$nmwmugmmgmummm(ﬁwﬁ)a%rrgfr?lé’a‘l TR T HOTIAT X 00A0% 0
gifere ?

B Admsinted

2000 2001 2004

2002 2003
Year %

During 2000 to 2003, the ratio of the total number fo the students passed out to the total number of students admitted is

IYR000 & 2003 ﬁmngmnm@mmmmgmuwwmmﬁwnmmtr?
Options:

1) 17/23

2)17/6

3) 11/23

4) 5/7

Correct Answer: 5/7

Candidate Answer: [ NOT ANSWERED ]
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Question 74.The following figure shows thﬁown[gmdsafmmuwwgth&mge during years 2000 to 2004. study the

figure and answer the questions.

AOANDIE 3THE 7 FFE Hloret 3 TVR000 ﬁa’wruzoo4aa;nmmmngmm@mnmmm(mﬁ)a%rrmvlé%l HTHIE T HOAAT F 0009 ST
afsT ?

W Admisted
12 :

2000 2001 200, 2004

2 o 2903
In which of the two years, the pass percentage of students was between 60 to 70 ?

HlA-T & IY0 SO STNOTM ELTT 60 & 70 & o oY ?
Options:

1) 2000 and 2001

2000 3i¥ 2001

2) 2003 and 2004

2003 3iX 2004

3) 2001 and 2002

2001 31 2002

4) none of these

ST § IS +Tg0

Correct Answer: 2000 and 2001
2000 31T 2001

Candidate Answer: 2001 and 2002
2001 3iX 2002

Question 75.The following figure shows the number of students (in thousands) admitted and passed out per year in a college during years 2000 to 2004. study the
figure and answer the questions.

AOAHDIE 3T 7 FFE Hloret 7 TVR000 ﬁa’wruzoo4r-|a;nmmmugmm@mnmmm(ﬁwﬁ)a%rrmvlé%l FTHTE &7 HOAAT FX 0009 T
afsT ?

12 B Admsinted

2000 2001 200, 2004

2 2003
The ratio of the number of students admitted in the year 2002 to the average of the number of students passed out in the years 2003 and 2004. is

2002 # HATET SMOHOHD AT 3T IER003 d2T 2004 # 3TATET BINOFOHD AT & A T T TATST ?
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Options: Downloaded from www.qmaths.in

1)7:8
2) 8:9
3)9:8

4)8:7
Correct Answer: 8:9
Candidate Answer: 8:9

Question 76.1In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

REVILE

Options:

1) REVIVE

2) REVIEW

3) ABUSE

4) REVEAL

Correct Answer: ABUSE

Candidate Answer: [ NOT ANSWERED ]

Question 77.1In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

SQUANDER

Options:

1) SPEND

2) REDUCE

3) SLANDER

4) SKIMP

Correct Answer: SKIMP

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Sanctaries

2) Sanctauries

3) Santuaries

4) Sanctuaries

Correct Answer: Sanctuaries

Candidate Answer: [ NOT ANSWERED ]

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “No error” option.

He had already sent me message (A) / that his arrival (B) / was scheduled for Thursday (C) / No error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: [ NOT ANSWERED ]

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “"No error” option.

Science and technology and (A) / their fallouts do not (B) / complete human culture (C) / No error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: [ NOT ANSWERED ]

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “No error” option.

Visit Wikt G MatHs: ity foF (oA 6T frde Stlidy thaterials and latest exam updates.

http://thepracticetest.in/challengesystem/response_questions.php?t_id=Mjk=&appid=1a4fff78943b24af40c79deccf09bb87 25/30



9/24/2016 Staff Selection Commision
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2)B

3)C

4)D

Correct Answer: A

Candidate Answer: [ NOT ANSWERED ]

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The clock has for want of winding.
Options:

1) run down

2) run short

3) run past

4) run up

Correct Answer: run down

Candidate Answer: [ NOT ANSWERED ]

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Few people know that flowers use textures to different kinds of insects.
Options:

1) signal

2) feel

3) attract

4) distract

Correct Answer: attract

Candidate Answer: [ NOT ANSWERED ]

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

They abandoned their comrades the wolves.
Options:

1) by

2) between

3)on

4) among

Correct Answer: among

Candidate Answer: [ NOT ANSWERED ]

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

For keeps

Options:

1) Himself

2) Away

3) Forever

4) Hid

Correct Answer: Forever

Candidate Answer: [ NOT ANSWERED ]

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Pale into insignificance
Options:

1) Seemed less important
2) Was less exciting

3) Was less hectic

4) Was dull and pale

Correct Answer: Seemed less important
Candidate Answer: [ NOT ANSWERED ]

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.
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1) By one man

2) By one community

3) Unanimously

4) In disharmony

Correct Answer: Unanimously

Candidate Answer: [ NOT ANSWERED ]

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Drug which causes people to sleep easily
Options:

1) Poppy

2) Soporific

3) Beguile

4) Pedant

Correct Answer: Soporific

Candidate Answer: [ NOT ANSWERED ]

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

The branch of philosophy concerned with the study of the principles of beauty, especially in art
Options:

1) Artistic

2) Aesthetics

3) Ethics

4) Metaphysics

Correct Answer: Aesthetics

Candidate Answer: [ NOT ANSWERED ]

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

The study of skin

Options:

1) Dermatology

2) Dermatoglyphics

3) Stratigraphy

4) Oncology

Correct Answer: Dermatology
Candidate Answer: [ NOT ANSWERED ]

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

She has that rare character - the ability to listen to people.
Options:

1) rare ear

2) rare characteristic

3) rare sense

4) No improvement

Correct Answer: No improvement
Candidate Answer: [ NOT ANSWERED ]

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “"No improvement”.

Both of them have not apologized yet.
Options:

1) Neither of them has

2) Any of them have

3) None of the two

4) No improvement

Correct Answer: Neither of them has
Candidate Answer: [ NOT ANSWERED ]

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

The greater the demand, higher the price.
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1) the high

2) a higher

3) the higher

4) No improvement

Correct Answer: the higher

Candidate Answer: [ NOT ANSWERED ]

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “"No improvement”.

His appointment as coach is yet another feather in his wing.
Options:

1) feather in his hat

2) badge in his hat

3) feather in his cap

4) No improvement

Correct Answer: feather in his cap

Candidate Answer: [ NOT ANSWERED ]

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

The majority of the rain-fed Indian rivers, either dry up, or become trickle after the monsoon.
Options:

1) the trickle

2) a trickle

3) an trickle

4) No improvement

Correct Answer: a trickle

Candidate Answer: [ NOT ANSWERED ]

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

It's nothing short of a revolution in how we eat, and it's getting closer every day. Yes, a lot of people are obese, and yes, the definition of "healthy eating" seems to
change all the time. But in labs and research centres around the world, scientists are racing to match our genes and our taste buds, creating the perfect diet for each
of us, a diet that will fight disease, increase longevity, boost physical and mental performance, and taste great to boot. As food scientist J.Bruce German says, "The
foods we like the most will be the most healthy for us."

Is that going to be a great day, or what?

All this will come to pass, thanks to genomics, the science that maps and describes an individual's genetic code. In the future, personalized DNA chips will allow us to
assess our own inherited predispositions for certain diseases, then adjust our diets accordingly. So, if you're at risk for heart disease, you won't just go on a generic
low-fat diet. You'll eat foods with just the right amount and type of fat that's best for you. You'll even be able to track your metabolism day-to-day to determine what
foods you should eat at any given time, for any given activity. "Since people differ in their genetics and metabolism, one diet won't fit all," says German.

As complex as all this sounds, it could turn out to be relatively simple.

What are scientists doing?

Options:

1) Racing in labs and research centres around the world
2) Asking us to start dieting

3) Creating the perfect diet for us

4) Try and make us taller

Correct Answer: Creating the perfect diet for us
Candidate Answer: [ NOT ANSWERED ]

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 97.A passage is given with 5 quewm ad Ma*"@#ﬁuWWqumthg.ti E¥ch question out of the four alternatives and

click the button corresponding to it.

It's nothing short of a revolution in how we eat, and it's getting closer every day. Yes, a lot of people are obese, and yes, the definition of "healthy eating" seems to
change all the time. But in labs and research centres around the world, scientists are racing to match our genes and our taste buds, creating the perfect diet for each
of us, a diet that will fight disease, increase longevity, boost physical and mental performance, and taste great to boot. As food scientist J.Bruce German says, "The
foods we like the most will be the most healthy for us."

Is that going to be a great day, or what?

All this will come to pass, thanks to genomics, the science that maps and describes an individual's genetic code. In the future, personalized DNA chips will allow us to
assess our own inherited predispositions for certain diseases, then adjust our diets accordingly. So, if you're at risk for heart disease, you won't just go on a generic
low-fat diet. You'll eat foods with just the right amount and type of fat that's best for you. You'll even be able to track your metabolism day-to-day to determine what
foods you should eat at any given time, for any given activity. "Since people differ in their genetics and metabolism, one diet won't fit all," says German.

As complex as all this sounds, it could turn out to be relatively simple.

What does J. Bruce German say?

Options:

1) The food we like is not healthy for us

2) The food we like is the healthiest one for us

3) The most healthy food should be liked by us

4) Food scientists like healthy food

Correct Answer: The food we like is the healthiest one for us

Candidate Answer: [ NOT ANSWERED ]

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

It's nothing short of a revolution in how we eat, and it's getting closer every day. Yes, a lot of people are obese, and yes, the definition of "healthy eating" seems to
change all the time. But in labs and research centres around the world, scientists are racing to match our genes and our taste buds, creating the perfect diet for each
of us, a diet that will fight disease, increase longevity, boost physical and mental performance, and taste great to boot. As food scientist J.Bruce German says, "The
foods we like the most will be the most healthy for us."

Is that going to be a great day, or what?

All this will come to pass, thanks to genomics, the science that maps and describes an individual's genetic code. In the future, personalized DNA chips will allow us to
assess our own inherited predispositions for certain diseases, then adjust our diets accordingly. So, if you're at risk for heart disease, you won't just go on a generic
low-fat diet. You'll eat foods with just the right amount and type of fat that's best for you. You'll even be able to track your metabolism day-to-day to determine what
foods you should eat at any given time, for any given activity. "Since people differ in their genetics and metabolism, one diet won't fit all," says German.

As complex as all this sounds, it could turn out to be relatively simple.

What is genomics?

Options:

1) The science which describes about maps

2) The science which describes an individual

3) The science which deals with years

4) The science that maps and describes an individual's genetic code

Correct Answer: The science that maps and describes an individual's genetic code
Candidate Answer: [ NOT ANSWERED ]

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

It's nothing short of a revolution in how we eat, and it's getting closer every day. Yes, a lot of people are obese, and yes, the definition of "healthy eating" seems to
change all the time. But in labs and research centres around the world, scientists are racing to match our genes and our taste buds, creating the perfect diet for each
of us, a diet that will fight disease, increase longevity, boost physical and mental performance, and taste great to boot. As food scientist J.Bruce German says, "The
foods we like the most will be the most healthy for us."

Is that going to be a great day, or what?

All this will come to pass, thanks to genomics, the science that maps and describes an individual's genetic code. In the future, personalized DNA chips will allow us to
assess our own inherited predispositions for certain diseases, then adjust our diets accordingly. So, if you're at risk for heart disease, you won't just go on a generic
low-fat diet. You'll eat foods with just the right amount and type of fat that's best for you. You'll even be able to track your metabolism day-to-day to determine what
foods you should eat at any given time, for any given activity. "Since people differ in their genetics and metabolism, one diet won't fit all," says German.

As complex as all this sounds, it could turn out to be relatively simple.

Why won't a common diet fit everybody?
Options:

1) Because different people eat different food
2) Because their genes are different

3) Since they differ in genetics and metabolism
4) Because of their different moods

rrect Answer: Since they differ,in t| d metabolism
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candidate Answer: [ NOT ANSWEReD IDownloaded from Www.qmaths.in

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

It's nothing short of a revolution in how we eat, and it's getting closer every day. Yes, a lot of people are obese, and yes, the definition of "healthy eating" seems to
change all the time. But in labs and research centres around the world, scientists are racing to match our genes and our taste buds, creating the perfect diet for each
of us, a diet that will fight disease, increase longevity, boost physical and mental performance, and taste great to boot. As food scientist J.Bruce German says, "The
foods we like the most will be the most healthy for us."

Is that going to be a great day, or what?

All this will come to pass, thanks to genomics, the science that maps and describes an individual's genetic code. In the future, personalized DNA chips will allow us to
assess our own inherited predispositions for certain diseases, then adjust our diets accordingly. So, if you're at risk for heart disease, you won't just go on a generic
low-fat diet. You'll eat foods with just the right amount and type of fat that's best for you. You'll even be able to track your metabolism day-to-day to determine what
foods you should eat at any given time, for any given activity. "Since people differ in their genetics and metabolism, one diet won't fit all," says German.

As complex as all this sounds, it could turn out to be relatively simple.

What will be possible in the future?

Options:

1) Personalised DNA chips for people to assess their own inherited predispositions
2) You are at great risk for heart disease

3) You will not be able to determine what food you should eat

4) You will be unable to adjust your diet

Correct Answer: Personalised DNA chips for people to assess their own inherited predispositions
Candidate Answer: [ NOT ANSWERED ]
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